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Jane Dresser

APPENDIX A: Video Summary Cloze

Video Segment Summary of The Man with the Golden Gun

At the beginning of this segment, James Bond (wake up) _________ in a martial arts school. He (realize) 
__________ that he (sleep) __________ for some time, probably because someone (hit) ___________ 
him over the head the night before.

Anyway, while Bond (relax) __________ and (drink) __________ some tea, the karate experts (begin) 
__________ to perform. Soon after, one of the students (invite) ________ Bond to join him, and seeing 
that it would be difficult to refuse, Bond (agree) _______.

They (step) __________ onto the mat together and (bow) __________ to one another, but just as the 
student (straighten up) __________ , Bond (knock) __________ him out.

Consequently, Bond (have to) __________ face Schula, the best fighter in the school, and a man who 
(never/defeat) ____________________. Dealing with Schula was a lot more difficult, but eventually 
Bond (manage) __________ to throw Schula to the ground, and by the time Schula (turn) __________ 
around, Bond (jump) _______________ out of the window. 

Luckily, Bond’s friend Lee and his two nieces were there to help him. They (pick) __________ Bond 
up, and (be) __________ about to escape when several students (appear) __________ and (block) 
__________ their path. However, there was no need to worry. Lee’s nieces were karate experts, and by 
the time Bond (realize) __________ what was happening, the girls (knock out) _____________ all their 
pursuers.


